
Item Part No. Description21 332/713900210 Ball D 5.5mm DIN 540122 332/713721059 Pin bearing HK0509SM2723 B/608ZZ Bearing 608-2Z24 332/769520140 Ferrite S25 332/844800050 Screw celoplast 4x2026 332/130013501 Spring27 332/130013542 Coupling28 332/130061581 Bearing support29 332/130013113 Button (drilling/percussion)30 332/130063101 Holder ring31 332/844800026 Screw 3,5x12TP33 332/130039242 Condenser group34 332/130034451 Switch button35 332/849070137 Screw M2,5x12 DIN7500C37 332/849071248 Screw M4x8 DIN 7500C39 332/135631861 Obturating disc40 332/130052251 Brush spring43 332/847305950 Screw M6x22

Item Part No. Description1 332/130068101 Motor cover2 332/130049026 Field 230V3 332/130049037 Armature 230V4 332/763344051 Switch 230V5 332/130051415 Switch Cover6 332/101204231 Cable fastening clamp7 332/130068611 Brush holder support8 332/130054181 Protection sleeve9 CS 2.5M2CBLK Power cord10 332/130069071 Brush11 332/130061741 Upper cover12 332/713721080 Needle Bushing HK108013 332/130061062 Handle cover14 332/769520141 Ferrite L15 332/134444541 Terminal strip16 332/130068273 Chuck spindle/gear set17 332/130067661 Cushion19 332/130063181 Regulation lever20 332/130052881 Rubber stop

Sole UK Distributor,Sealey Group,Bury St. Edmunds, Suffolk.

01284 757500 01284 703534 E-mail: sales@sealey.co.uk

HAMMER DRILLModel: SDE700

NOTE: It is our policy to con-tinually improve products andas such we reserve the right toalter data, specifications andcomponent parts without priornotice.

Original Date:  010598Issue Date:     010598Version No: 1Date Modified: 010300


